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Instructions to the candidate :

1.
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Candidates are required to give their answers in
their own words as far as practicable.
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Figures in the right hand margin indicate full
marks.
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All gquestions are compulsory.
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While answering the candidate should adhere to
the word limit as far as practicable.

BiharPaper.com 2 . [ Turn over

' Sl. Code :
SCIEHCE BlharPaper com 2

. wwaﬁﬂﬁﬁ?mlsﬁﬂzwaﬁﬁﬁ

o far mar 2

15 minutes of extra time have been allotted for
the candidates to read the questions.

9 -A
GROUP - A
(3iF : 60)
{ Marks : 60 )
e -
_Instrut:tions:
() 137 o1 YAl & TR U IS 91 U 9T ° <

Answer im one word or in one sentence the
questions of 1 mark.

(i) 2 3% IA WAl % I THT 50 ¥R T, 3 IR
I WA & IW AT 75 VR § U 5 3 el
UeHl & I AT 150 vIR) 8§

‘Answer in about 50 words the questions of
2 marks, answer in about 75 words the

questions of 3 marks and answer in about
150 words the questions of 5 marks.
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d
How does change of energy take place in electric

motor ?
o foog 9o W 100 W - 220V
| mﬁﬂﬁgﬁwaﬂmaﬁﬁl

. 220 V is printed on an electric bulb.
pass through the bulb ?

sfea g1 gos |
1

100 W .
How much current will

3 € ol @ O el e |

Give one feature of solar energy.

1
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4,
What is the S.1. unit of resistance ?
& | g9 &
G g & TEE TE ¥ faaret
5, [eEd
| 1
Tl & 7
On which effect of electric current does an
clectric bell work ?
i~ = ) .? 1
6 mﬁaﬂwaﬁmmmﬂaﬁaﬁ? .

' red ?
In which form is the purity of gold measu
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7., T Gar it geeeie e § 1

In which medium is the covalent compound
soluble ? :

8. UTHET W WHIE P HE ? 1
What is the general formula of alkyne ?

9. 'CpHpn FFE TR & a0 §A ¢ 2 1

Cp Hop is the general formula of which type of

hydrocarhﬁn- [ . BiharPaper.com

10. I W WEA W FH Mg R wITA@E 2 |
Which metal is cut with the help of knife ?

11, 99 UM & TH AT sand | | 1
Give one suggestion for the conservation of
forest. ' . .

. WRwmRE |

~ Why are plants green ?
13, WO |/ AW T WRE € 0 1

What do you mean by pollination ?
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Fish respires by which respiratory organ-? '

.What is the role of digestive juice in the’

15. Wi et uReR e s T Ee § 2 1 ~ stomach ?
Transport of water occurs through which type of 21. g7 Td wﬁmm T o SR € ? 2
tissue ? | - -
| ' . . . What is the difference between respiration and
16._ Hg Uel | A =T ﬂq«‘?ﬂa‘%‘ ? . . 2 | brgathing ? BiharPaper.com
What do you mean by short circuit ? 90 FEeT ol w E ¢F 1 el Sl €72 3
17. SN S W o % ? ﬁ% SR D) RIEES Why is convex lens called converging lens ?
31T L | | BiharPaper. 3 o
T ApEreom 2 03, Wil H WA ¥ ¥ 7 A e ¥R W
What is reflection of ligh Sl b :
_ . ght ? Describe ‘its la | 3
with diagram. \ e B E 2
g . : ; i ? What are its
18, . N . What is grouping of resistances :
8 H@ié T THRHF Feiteor e 2 I[E0T | 2 . types?
What is balanced chemical ‘ : - T R wd I --
equat - T
example. quation ? Give 24, TARLL 3TE ity & fl-ITiT“T ht i‘am d
19. STl F SRl Sane g ¥ - 2 . o o
What o Write the pracess of making the Plaster of Paris
at are the fesources of non-renewable and its uses.

energy ?
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What is valence elec

valence electron in sodium.

g&”?ﬁﬂ?ﬁﬁqﬁﬁm%{@!

Write the difference between blood an

27 mwwmg@ﬁ%wq&m%@ 3
male and

d Iymph:

Write the names and functions of

female sex hormones. BiharPaper.com
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What is vision defect ? Name its types. How can
they be removed ?

OR
What is resistance ? How is the resistance of a
coil calculated practically with the help of
ammeter and voltmeter ?

20, el Weohe TN & 7 TS WO H Jeoid H 5
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IReNE & arad gnvl 3R smyfer mad wRel #
FT AN E ? ‘
What is energy crisis ? Describe its remedy.

OR

What are the differences between Mendeleef's
periodic table and Modern periodic table ?

30 wrifiEs faavor grr waid fF wEmR deeur &6

fpar o airedled 19 O B €1 5
Describe the experiment which shows that
oxygen gas is released during the process of
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| GROUP - B Choose the correct alternative from the given
four options :
(3 : 20) () wae SUT ERT S SR e 8
{ Marks : 20 ) (@) FTeTe
QEW 03 (b) AT BiharPaper.com

| Multiple Choice Questions o) (2) B (b) EFI

T ;30 qoTieh : 20 x 1 = 20 | (d) T @ HIE TE |
3 | The image formed by plane mirror is
Time : 30 minutes Full Marks : 20 x 1 =20 @)  virtual
. BiharPaper.com [b} real BiharPaper.com
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General Instructions :

() W U & 3 e
Each question carries one mark. -

@) Fu T vt § wR dwfoas IH A 4@
forped we SEIT & 9 foE |

(c) both (a) and (b}
_ (d)] none of these.

) e g v @ e ¥ e few ow @
RN Rcll & 2
fa)  IT (b) =

() SRR () TN T

Which lens is used to remove the near

el I A

. . i .
Write down the correct choice with question sightedness defect ?

numbet from the given four options.
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(a)} Convex (b} Concave

(c) Cylindrical (d) None of these.
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{a) IA (b) Hadd
(c) TTHHR (d) STEWIHE |
What type of lens is found in human eye ?
(a) Convex (b) Concave
{c) Ring (d) Bifocal, BiharPaper.com
49 TovEmR T oot 9 Y s e ¥
(a)  3THIZX _(b) TR
() TeaRmiR  (d) 7 @ W 8
The instrument used to measure the
potential difference is called
(a) ammeter (b) voltmeter
(c) galvanometer (d) none of these,
v) X W frm ufow 4 R g
ST g ?
(a) SUiET
(b) UPHEE
(€ (a) 3R (b) BN
(d) T GBS 7ol |
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(vi)

(vii)
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Ammeter i connected in an

e electric
(@) in series

(b) in parallel

(c) both (a) and (b)
([d) none of these.

ﬁqaumms.x.rrrﬁ%
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(a) diee (b) e

(€) & ~(d} Qiﬁqm I

The S.1. unit of electric current is

(@) wvolt (b)  coulomb

() watt (d) ampere
W ¥ o Fed  ikfars
T 2 |
Aa) 31w o(b) 3T

(© SEEFRT  (q) wEg HIE T
By which 1 i i
el tns only virtua] Image js
(a) Convex (b) Concave

{c} Bifocal (d) None of these,
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wii) CuO + Hy — Cu + H0 Ty 7R &

(a) ST DT (b))  EREGIEE
artsrferar % ? BiharPaper.com
(c) €N (d) I |
(a) 394 (b) . Carben combining with hydrogen forms
() TRHE (@) & (8) ionic compound
What type of reaction is (b} hydrocarbon
CuO +H, »Cut H,O ? () halogen _ BiharPaper.com
i) Oxidation (b) Reduction (d) ral?[ua regia. '
(¢) Neutralisation(d) Redox. _ | (xii) 3TERT AROM & YO ot & G §
fix) SO % AR § S IE FE ¢ @ FEGA (b)) @R U
_{a) gEEASH (b) 3ga © FHATE (@) Ty U
@ FEEE 4 A P ; | ?:1 members of 1st group of the periodic
d formed by transfer o abie are
E::itrgflzlf:;l;led BiharPaper.com (a) acid metal {b] alkaline metal
(a) covalent (b) electrovalent (c) inert gas (d) alloy.
(c) carbonic (d) none of these. (xiii] m fl coﬁm a% ~ ﬁ %
{x) e % - ' (a) 001% (b} 0-05%
(@) R (b) G o k 003% @ 002%
) fasewg l[d] ; 3T & ;[‘he presence of CO, gas in atmosphere is
Brass is an example 0 | a) 0-01% (b) 0-05%
tal (b} non-metal P 0
{(3 amlfo}’ (d) metalloid. | €} 003% (d) 0-02%
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(xiv) "NaOH' %

(a) 3T (b} &R
Ac) T (d) ¥ 9 HIE T
‘NaOH' is
(a) acid (b) alkali
(c) salt (d} none of these.
(xv) | 3iTeRA &

() T WA (b} oI
(c) TS (d) FEEEE

Auxin is BiharPaper.com
(a) ahormone (b) fat
(c] enzyme (d) carbohydrate.

(xvi] TS ORI & W= A FT 90T Tl &
(a) ISR (b) THYE
(o) e (d) e

. is not a part of human
female reproductive system.

(a) Ovary (b) Uterus

{c) Vas deferens (d) Fallopian tube.
xvii) TRITRIA &l &

(a) el acT (b) TSR

(c) s {d) T
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The anther has

(a) secpals (b) ovary
(c} ovules (d) pollens.

(xvii) TOIST diyor & AU TEvEE &
(a) CO, Ab) AR
(c) TR W (d) 7 H )

Essential for autotrophic nutrition is

(a) CO, (b} chlorophyll

(e} sunlight {d} all of these.
(xix) TIF F IR Ft gI@ 9L 0y ¢

(a) ¥R (b) ST

(€) FBRE (4 UZH!
The largest gland of human body is
(a) liver (b) pancreas
(¢} ovary (d} adrenal.

{xx} 9IRY BIO1 &7 3SEI0I ¢ BiharPaper.com

(@) U (b) TG
(c) aiferdt (d) TTRETA

Example of phytohormone is
(a) pcp.f_sin (b) adrenaline
{¢) auxin {d) testosterone.
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